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& ������ ������
�$��� ����$��
�� �����������
$���� ���$������ ��*���
��( �������-

��
$�� ��
��� �
 �'9�����
��� ��� ��� ����$���� ����� ����
$���) ∼80 ����. &�(�$��� 
�����
��) �$������
������� ����$���� ����
$���) 2-%0 ���� ��� ���������� 
�$������
�������� ��������)�
��( � ������
�� �������*���
��, L� �����
)�� ��� 
�����$����� ��*���
���. &����
	
9���(, L� ���	���( �$������
�������� ��������)�
��( � 
������������� ��
�
���� ������ ���$�, (��* ��������
9 ����
$���� ��9����9��� �
�� 
����$����, ���$���, ���� ����(�� ��$�? �
������ ���������
��) ��*���
�� ��� 
���$�����
� � �����	����������. 

ELECTROMAGNETIC RADIATION AT DESTRUCTION OF 
MONOCRYSTALS OF QUARTZ AND PIEZOCERAMIC 

SUBMICROSECOND IMPULSES OF PRESSURE 
In work the results of experimental researches of quartz monocrystals destruction and piezoce-

ramic are submitted at influence of impulses of pressure by duration 80 ns. The generation of elec-
tromagnetic impulses by duration 2-%0 ns is found out at occurrence of microdestructions in piezo-
electric. The correlation of occurrence of electromagnetic radiation with processes of microdestruc-
tions occurring at break destruction is shown. It is marked, that the study of electromagnetic radia-
tion in decimeter range of waves' lengths, which meets to duration of pulses, registered by us, 
probably, can promote earlier forecasting of destructions at earthquakes and mine-production. 

 
O
�
�����B� �$���$������ ����$���� U$������
�������� ��$�	���(, ����-

��������B� ��� ���$���(����(� � ���#���	����* �
������ ����B� ��$ � �����-
U$�����	������ ���*���
��, 
 �
��� � ��� $
���
����B� ���$����
��(�, 
��B	�� ���)� ��
	���( ��$�� 	�� 2-3×%0-6 ���[%-3]. 8�� U��� ��
	���( �$�-
��$������ ��
��B� �
������ ����B?
)� %0 –6���.  

& �� �� ����(, � �������� U����������
$��B� ���$����
��* ���
��	����* 
���	����� � �������$
���	����� ���*��� �
����
$�� ��� ����������������� 
��
���� �
�������� � �$���$�����(�� 50 - 250 ���� [4, 5], ��������
��� �
 ��-
��$$���
��
� ����
$�� � �����U$�����	����� �
�	����, �
 #��� �����������-
�B� ����$���� ���
��	����� �
��(����*, #�������
$��� �����	�B�, �$� ��-
��� �������� (2-%0 ����) ����$���� U$�����	������ ���
.  

�
 ���. % ������
�$��B �
�
�����B� ����$$���
��B ����
$�� ��� �
���-
����� ���
���� ��
��
 O-����
.  

8�� �
�$���(� �
�������(, ����B?
)L�� ��$�	��� ~ %50 
8
 ��������-
����� ����
$�� ���������$� � �
�$�	��� ����(, �
	
���), �
	��
( � #����
 ��-
����������B� ����$���� �
�$���(. A��������$������ ������$
���� � �� �
�-
�������	���
( ��$�������� ����
�($
��. 8�� �������B� �
�������(� ���$�	�-
�
$��� ��$�	����� ������������B� ����$���� (���. %�), ����
$
�� 	������-
��$������ ������$
���� � ������
$� �
������L��B. C��$����
��� U$�����	�-
���� ����
$�� � ������$
���� � 
�����B (�����, �
���$�����B* ������ ����-
��* ����������� �����U$�����
, �
�������B* �
 ��������$���� 50 =�) ���
-
�
$�, 	�� ����
$B, ������������B� 
������* � ����$��$���B� �
������* ��-
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��
�$()L�* ��$(, ��(�$($��� ������������ � ����$��
�� ���
 � ������
�	��
.  
 

 
 

'��. % - =���$$���
��B ����
$�� ���
 � ������
�	���� �� SiO2 x-����
 
 
8��	���* ������������( �������� ����$���� U$������
�������� ��$�	�-

��( (�$(���( ���
���
��� ���B� �����������* � ����$��
��  �
���?���* �
 
���������������� ������, 	�� �������� � ��(�$���) $��
$��B� ��
������� 
��$(���
��� � �B����* �
��(�������� U$�����	������ ��$(. �
���$�� U##��-
����B� ���
������ �����
��� U$������
�����B� ����$���� � �����U$�����-
�
�, ��-��������, (�$(���( U$�����	����* �����*. =����� � ��������( �
��(-
�������� U$�����	������ ��$( � �����U$������
� � ����� ���L�� [6] �
)� ��
-
	���( ���(��
 %06-%08 �/� ����
��	�B� �$( ������������( �����(. 

& ����
��B� �B?� U����������
� ��
���� ���B �
�������( ����B?
$ 
�
����B ������
�	����. 8�U���� ������������� U$������
�����B� ����$���� 
�
 #����
� ����$���� ��
��( ���������$��� � ��Y(��(���( ������
���?���(-
�� ��$��� ������* ����������� �
�	���� � ��$�� �
�������. I�� ��$�� ������-
��, 	�� �����������
( ���	�����, �
��� ������� �
����
$�� �
� ��
��, �
 �	�� 
�����$���	����� ��������� ���
�����, ��
	���$��� ���� ��Y����*.  

C������ ������
�$(�� ���	���� �����$(��� ������������( � U��$)��� 
U$������
�����B� ����$���� � �������
�� ������
���?���* ��� ����$� � ��-
$���(� ��
����� �
�������( ����������������* �$���$������.  

!$( �
���$���( �� ������� ��������� �
���?���( � �����B� �����������* 
� ��� ����$�, �B$� ��������B ���$����
��( �
 ���
��
� ��$�?��� �
����
. 
C��$����
$��� ���
��B ���������
$$�� ��
��
 O-����
 ��
������  24 �� � 
��$L���* 3,65 ��, 
 �
��� ���
��B �� ��������
����  |I+"-3 (24�5,68 ��) 
��� �
����� ��$
��� �
�������( 8 ��. & �
��* ��������� U����������
 ���
-
���
��� ��$�B �
������� �
 ������* ����������� ���
���� ����� �
�
��B�
��, 
��$�� 	�� �
 %0-6 ���, ��������$��� ������� �B���
 �����$���* ��$�B �
 ���-
�����) �����������.  
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�
�������� ���
���� ���L����$($��� ����$��
�� �
�$���( �$���$������) 
∼80 ����, �������
��B� ��� �����*����� ����$������ $
������� ��$�	���( �
 
�����* �$�* 
$)����(, ����
�B* � 
�����	������ ��$������ �� Ti, � ����
��� 
� �����B� �
����$��� ���$�����B� ���
��B. !$( ��
$��
��� �$������ �
���-
����( ���L����$($��� ���B �� �
���������� �
������$���) $
�����* U���-
��� �� ��$
��� ��$�	���(. 

!
�	��� �
���
$� � ������ "��������� �
�B�
��(" (R=50 =�). =������-
����� � ���������� ���
 � ������$
���� �����������
$�( ����
$ � �
��?�� 
������������� �� 6 ������ ��
������ 27 ��, �
���$������* ������ ���
����. 
&�������� �
���?���� ��
��
 �������
��� �B$� ���
��	��� 2 ����. 

�
 ���. 2
,� ������
�$��B ����$$���
��B ���
 � ��
������� ���
��
 (���-
�B� %, 3) � �
��?�� ������������� (����B� 2, 4), �����������)L�� �
�����-
��) ��
������� ���
��
 �
�$����� 450 
8
. C��������B* �
�	�� ����������-
�� ������������� ����$���� U$������
�������� ��$�	���( (2) c �$���$�����(-
�� 2-%2 ����. 8�(�$���� ����
$�� � ������������ �
�	��
 ����
�
�� �� �����-
�� � #�������
���� � ������ �
��(���
)L�� �
��(����* ��$��� ��������* 
����������� ���
��
 �
 �$����� ∼85 ��� �� ��
���B, 	��, ��-��������, ���-
�$��$��� �������
�� ������
���?���* �
 ��#���
� �����$���	����* ������B 
����������)L�� ��$��� �����������. �
���$�?
( �� ������������� U$�����-
�
�������� ��$�	���( ������
���( � ������ #�������
��( �
����
$��B� �
�-
�(���
)L�� �
��(����* �
 �
����(��� ∼260 ��� �� ��������* �����������, 
������� ������������� ���
���
��) ����$
. I
��� ��
	���� ��$L��B ����$���-
�� �$�( ���������
$��� #�
�����
#�	������ ���$����
��(��. 8��$���)L�* 
����������B* �
�
���� ��������( 
��$����B ��$�	���( ����$��$��, ��-
��������, �
������� ������
���?���* ��$������� ��������
��� ����$��
 �
-
��(����* � ����$���� �$��.  

 

%,3 – ����$$���
��B ���
 � ��������
����; 2,4 – ����$$���
�B � ������������ �
�	��
 
'��. 2 – =���$$���
��B ����
$�� ��� ������������� ����$
 � ���
���  SiO2 x-���� 

(24�3,65��); � – ���$�	���B* #�
����� ����$$���
��B, �����������)L�* �B���� ����$��
 
��
��( �
 ��������) ����������� ���
����.  
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8�������� �
�������� �������$� � �
����
���?���) ���
���� (����B� 3, 
4) – �
��
$B�
��) �� ��
����� �
 3-4 	
��� � (��� �B�
�����* ��$
���) ��-
��$
 � ��������* �����������.     

�
 #�
�����
��
� ����������� ��$��� ����$��� �
�$)�
)��( �	
�� ���-
���
���?���* (���. 4
). 8�� U��� ��$�?
( 	
��� �	
��� �
�
����������( �	��� 
�$
���* �����������), 	��, ��������, ����$��$��� �B����* ������
����* ��� 
U$�����	����� ������ � ��$
��� 
���� ������
���?���*. 

�
 ���.3 ��������B 
�
$���	�B� ����$$���
��B �$( �$�	
( �
�������( 
���
��
 ��������
����. & ��$�	�� �� ��
��
, ����( ��(�$���( U$������
����-
���� ��$�	���( (2)  

%, 3 – ����$$���
��B ���
 � ��������
����; 2, 4 – ����$$���
�B � ������������ �
�	��
 
'��. 3 – =���$$���
��B ����
$�� ��� ������������� ����$
 � ���
��� ��������
���
 

|I+"-3 (24�5,68 ��), � – ���$�	���B� #�
�����B ����$$���
��, �����������)L�� �B���� 
����$��
 ��
��( �
 ��������) ����������� ���
����.  

 
����
�
�� � �������� #�������
��( �
����
$����� �
��(���
)L��� �
-

��(����( �
 �$�����  ∼ 430��� �� ��������* �����������, 	�� ����
�
$� � ��-
������B�� ��
	���(��  ��$L��B ����$����� �$�(. 8������B� �
�������( ��-
�
���� (3,4)  �������$� � �
����
���?���(� �
��� ������
�$()L�� �������-
����� �
���?���* � �����B� �����������*�, � ��$�	�� �� ��
��
, ��$�� 	���� 
�B�
����B� ����$��. C��������B� ���$���� U$������
�������� ��$�	���(, 
��(�$()L���( ��� ��������� �
�������� ���
���� ����$��$��B �
�������  
�������
 �
���?���( ��� ��������
��� ����$���B� �
��(����* � ����$���� 
�$��. �
 ���.4� ��������B #�
�����
��B ��$
��� ����$
 � ���
��� ��������
-
���� |I+"-3. 

I
��� ���
���, ���������B� U����������B �����$�$� ���
������, 	�� 
U$������
�����B� ����$��B ��� �
���?���� ������
����
$�� ����������-
�����B�� ����$��
�� �
�$���( �
 ��� ���(��
 ����	� �
�$)�
��B� �
���. 
8��	���* U����, ��-��������, (�$(���( �
�$�	�� �
�
�����B� �
�?�
��� 
���������B� ������*, ������$()L�� ������� �
���?���( ��� �
��B� �$�-
��$�����(� ��
����� �����*����(. C��$����
��( ��������B U$������
�����B� 
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����$����, � ������������ � ���$���)L�� #�
�����
#�	����� 
�
$����, ���-
�
)� �����������) ����������� ��$�	��� ��
	���$���) ��#���
��) � �
�-
����� �������
 �
���?���( ������� �
����
$��, 
 �
��� � ���������B� ����-
�(�, ������$()L�� �������B �
���?���( � ��� �$� ���� ��
�
���� �$���$�-
�����* ��
���* �
������.  

 


                                                                           � 
'��. 4 – 1�
�����
��B �
���?���(, 
- SiO2 x-���� ; �- ��������
���� 

 
=������ �
���, 	�� ���	���� U$������
�������� ��$�	���( � ������������ 

��
�
���� �$�� ��$�, �����B* ������������� �$���$������ ������������B� 
�
�� ����$���� ��$�	���(, ��������, ����� �����������
�� ��$�� �
����� 
�����������
��) �
���?���* ��� ���$���(����(� � ��������B	�.  
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